B FREEET FEarrAT
Banchmark CAD Ler A

SE | 37 EK [ vie eqmeine SHERTING SXTENSIONE
o oTToR diz
‘m o ‘aﬂawms i ‘nﬁr{ ‘uun 3 ‘snm izl ‘nmﬁ o0z

3 ot

2¢ 0wt 12
RO | 5T, STRE.
-+ |o-11 172

SE | ST BK | VP EqENsions SEMDE EXTOEINE
24 | 1o o
e e

14 | o

=T TR
TOTTOR|DESIGN HOUSING |NATIONAL LLMBER

[ONIT e, [SHERTFNG (717 [ORTE
Fug 19 1900

T T
DESIGN HOUSING |NATIONAL LUMEER Lev A

[NIT NG [SHEATHNG () [oATE e
fup 19 1908 |AMe

e

358 1/2" } 23-8 1/2" + b 23-0
N

o
=T
81 L/ & - o -1 L/an| &

8-11 1/8"

|
U

5
! ! L |
9 /00 EXRVLY 93 1740 - . : 147 716"

30a1 vz 111 34 6-2 L/4 10-10 13/18
o wall 04 from vall OL to vall 03 217 3/4"
from wal 03 to wall 0S

[ E—— T — — " ——

W3

i =]

DESCRIFTION LENGTH DESCRIFTION arr
DESCRIPTION LENGTH DESCRIPTION LENGTH DESCRIPTION LENGTH DESCRIPTION SIZE  LENGTH
A-STWD - 3 K-VERY TOP PLATE 1
A-STUD -8 5/8" L-TOP PLT 68 1/2' B-JRCK STUD 1 7-8 5/8" L-HEADER SHIM 1/2d0 341"
5/8" M-TOP PLT 160" o 3 7-8 5/8" M-HEADER SHIM 1/2x10 3 " 8-6 5/8" E-TOP PLT 1 24
3/8 N-TOP PLT D-JACK. 1 5-3 3/8 N-TOP PLT 24 7"‘5 “1/2” F-BOTTOM PLATE 1 24
5/8" 0-BOTTOM PLATE E-JACK 1 2410 1/2" 0-TOP PLT 1540 G-BOTTOM PLATE 1 24
E-CRIFRLE 5 7/8" F-50TTOM FLATE 16-0° FoRIPELE o h 5 38" F-TOR FLT - D-TOP PLT 70"
i .
1
1
1

DESCRIPTION LENGTH DESCRIPTION QTY SIZE LENGTH

F-vTP -8 1/2" O-BOTTOM PLATE 148 1/2" G-VERY TOP PLATE 11 718 0-TOP PLATE F-CRIPPLE -2 5/8" 0-BOTTOM FLATE

VTP R-SILL -1t 3/4 FVERY TOP PLATE b R-BOTTOM PLATE G-CRIPPLE 40 7/8" R-BOTTOM PLATE
SSILL 3 I-VERY TOP PLATE 241 15/16" S-BOTTOM PLATE 1z /8 -SILL .

I-HEADER SHIM 1/2x10 T-SOLID HERDER 6-5 3/4" U-VERY TOP PLATE 1-8 9/16" T-NON-BERRING HEFDER 7-3 1/2" T-SOLID HEADER PANEL LENGTHS LIST

-HERDER SHIM /240 U-SOLID HEADER 66" 15410 U-S0LID HEADER

K-HEADER SHIM 1/240 V-50LID HEADER 33 K-HEADER SHIM 1/2d0 3+t 1/8" V-S0LID HEADER 31 178"

T v samems | ST B PRoTEET e = | o o |_vir oo SETG Exmes PRREET AT == | v e | v someon SrEnTaNe DXESe PeoECT fooRPRT o

- [CEFT RGBT RGO Eorion | DESIGN HOUSING | NATIONAL LUMBER L P 2 o vt RIGRT —[LEFT N Borran |DESIGN HOUSING |NATIONAL LUMBER Rl 2w o vz [T RIGHT [LEm RGO Eorron | DESION HOUSING | NATIONAL LUMBER Length Length
G R | S N7 W6, |G (e [ORTE e 5 s (erewr| || | T 6 SRR (e [T e 05 e ) ” G 6. [eeRTeNG v [ohTE e °

03 12 |03 vz a1 o (o e | FLus g 13 1993 |Fes ex1is| T (o L] 03 12" |03 12 03 15/16) FLusn | FLse | FLuse g 19 1355 | Ao oxis| 1 |G |03 12| FLUSH (o3 18] o | rLen | P o 19 1398 |Amp g
35-8 1/2" + 218 1/2' 22-8 1/2" + 23'8-1/2
35 8-1/2"
23"
T ' "
) 21" 8-1/2

265215 30T 25246 oD g1 /2"
2' 3-1/2"

oo 3 F 12 1e-1/4"
38"

®~D U A W

8-11 1/8' 8-11 1/8"] I , 5"

nono —
=0

1Al 13" 10-1/4"

£2-10 1/B]~ £ 2-10 1/8] +2-10 1/8| 2410 1/81 £2-10 1/8|

TYPE SWING |HAND HEIGHT HEADER HEIGHT | DESCRIFTION

T
L OPENING SCHEDULE [LEVEL A
WIDTH

1
s b 10 12 pshy 243 T/E Jo 5 B BEAM POCKET outswing [right |0*-3 174~ [0™-T1 /4~ [0"-0" Double 2x12_Beam
from wal 07 to vall 02 ol 100" 15-0 7/18" EXTERIOR DOOR outswing |right |2'-10" 6'-10 7/8"|6'-10 7/8* 2868 Extsrior Door|
from wall 04 to well D& from val 05 to wall 07 EXTERIOR DOOR inswing |left |3-2" 6'-10 7/8” 3068 Exterior Door
EXTERIOR DOOR outswing |right |3™-8" 3-o"
EXTERIOR DOOR ingwing |right |6'-0" 6'-10 7/8”|6'-10 7/8" Sliding Glass Door
DESCRIPTION LFNGTH ) DESCRIPTION LFNGTH : EXTERIOR DOOR inewing |right [0°-3 53" =y
A-STUD 78 5/8' K-TOP PLT 7-4 1/2 DESCRIPTION LENGTH DESCRIPTION SIZE  LENGTH DESCRIPTION LENGTH DESCRIPTION QTY SIZE  LENGTH INTERIOR DOOR outswing |left |2'-8 12" |6'-10 7/8" 610 7/8"
B-JACK STUD 7-8 5/8 L-TOP PLT 16-0 A-STUD 8-6 5/8" G-HEADER SHIM 1/2x10 -0 A-STUD 8-6 5/8" H-TOP PLT 2x4 78 1/2" - : Ty . - lar -
C-JACK 6-9 3/8" M-TOP PLT 124" B-JACK STUD 86 5/8" H-TOP PLT BJACK STUD 8.6 o/ LToP PLT o o INTERIOR DOOR outswing |right |2'-7" 6'-10 7/8" |6'-10 7/8 CASED OPENING
D-CRIPPLE 1-2 5/8" N-BOTTOM PLATE . Sy - 7 B/g" ¥ o INTERIOR DOOR ight |41 8'=10 7/8"|6'-10 7/8" Dbl Bi-Fold
vl P T FATE C-JACK 61 1/2 I-TOP PLT + 7-7 3/8 J-BOTTOM PLATE 2x4 7-0 right i

F-vTP 160" P-BOTTOM PLATE 1
0 E-VTP 6-4 1/2" K-BOTTOM PLATE -SILL 2x4 2-10 1/8" " o 5 Croe - -
G-VTP 158 Q-SILL F-vTP 15-4 L-S0LID HEADER o It M-SOLID HERDER 240 31 18 2852DHx2 | WINDOW 511 3/4" |55 1/4” |6'-10 7/8 Dbl Hung = Twin

H-HEFDER SHIM 31 18 R-S0LID HERDER - 3 " o 5 CRrE 0
e o oD hEEeeR 2852WG_| WINDOW 210 1/6°[5'5 /4" [6-10 7/8
J-HERDER SHIM 1/2<0 31 1/8" T-50LID HERDER 2852WG | WINDOW - 2'-10 1/8 7-8 7/8

SHERTHING EXTENSIONS [FoEcT [Porren B W& | 518X [ _vir oomeme SerrNG STEeI RRGIECT e
RET [T [DESIGN HOUSING | NATIONAL LUMBER 15 34| RIGHT o [T T Benchmark CAD i T P R - RO [T Borraw | DESIGN HOUSING | NATIONAL LUMBER
[oRer o ‘ . T el

SHERTAING (177 [OATE e FCIVG [T, | T 0. ST (17 [BTE VAE 1 SPRCING | 57, STRT. G E=a [GeTE e
g 19 1555 |n o J oct 26 oot |Sumple s AP A Fusn va | e | owa g 19 1355 | ypl ( :
v

12-10 174" + KK KKK KR KK KK KK KKK K ORKK E 36 30K KK KK K KK K K KK KK K KK KK KKK KKK KK KK KR K K K K 13-10 1/4" an
1 - PULL LIST - WALLS LEVEL A - i P d
w * RUN: 10/26/2001 PAGE: 1~

BN o1 ok WER: o\pmdsanis Drawings

KEKKKKKKK KKK KKK KKK KKK KKK KKK KOEEK KKK KKK KK KKK KK KA K KKK KKK KKK KKK KKK KK KKK KKK KKK KKK

PART * DESCR SIZE QOTY/USED OTY/COST  COST/UNIT sl : Cr ea.ted
06517 3 SYP 2x12 10" 3MNBF 0.00/MBF X : : H a.I I
060078 PLYWDOD  01/2x48 B/SHE 0.00/SHE . . Los 2] A UtOI | |at| C y

050080 SFEATHING  01/2x48 B/SHE  0.00/SHE ;
085201 SPF 2% 10" AEA B.00/EA | e —— ]

. 065203 2% 12" ONBF  0.00/MBF | . ‘ wssee y t e
P—— o vall 09 065221 24 14’ 3MBF  .00/MBF ) am—_—" o vl

065207 2x6 18" B IMBF 3 .00 /MBF . B H I d $A D
T = 65225 STUD GRD S 2x4 7' 8-5/8" -D/NBF .00 /MBF . DESCRIFTION OTY SIZE  LENGTH DESCRIPTION QTY SIZE  LENGTH U| a‘

65228  STUD GRD S 2x4 8 ANBF 0.00/MBF . 0 R e T T et s e
DESCRIPTICN LENGTH DESCRIPTION LENGTH 65222 STUD GRD S 2x4 10" .3 /MBF 0 .00 /MBF . ] G-TOP PLATE 1 24 11 DESCRIPTION OTY SIZE  LENGTH DESCRIPTION QTY SIZE  LENGTH I td I 'f
A-STUD 7-8 5/8' E-VTFP 126 3/4" 65238 STUD GRD S 2x6 7' 8-5/8" JMBF 0 .00 /MBF . H-TOP PLATE 1 24 = A-5TUD 12 24 7-8 5/8" F-VERTICAL BLOCK 3 2a 10" n I r al I la‘

B-JRCK STUD 7-8 5/8" F-TOP PLT 12410 1/4" T-BOTTOM PLATE 24 s B-JACK STUD 2x4 7-8 5/8" 6-TOP PLT 1 2 1310 174"

n
C-JAcK 6-9 3/8" 6-BOTTOM PLATE 1 12410 174" s C-JAcK 4 6-9 3/8" H-BOTTOM PLATE 1 24 13-10 174"
D-CRIPPLE 0-9 3/4" H-NON-BERRING HEADER 1 2-10" D-CRIPPLE 5 2 0-9 3/4" I-NON-BEARING HEFDER 1 2x4 210" % tWar e
E-VTP 1 4 13410 1/4" J-NON-BEFRING HEADER 1 2x4 2-11 172"

i T -

1
1
1

D-CRIPPLE 17 7/8" J-BOTTOM FLATE -8 3 3 K-BOTTOM PLATE 1 24 15-8 1/2" WINDOW - 3=0" 31" 6'-10 7/8"
2
4

gl
NA A %

6-10 7/8"

X16 | X185
(Vi

STACK 2
STACK 1 e o [ NO C AD

panel | Lengtn | watn | Hmant
58"

e e e : Drafting was
: = N _ required or
= pie e Wy used to create
- S PR any of the

CErm e o e . T R Drawings

BENCHMARK DL N '1' ' shown on this
PANEL STACKER page.

w7 282 |3 w2

teZ e INK KN

SAMPLE WALL PANEL OUTPUT FOR BCMC 2005
DRAWN USING BUILDERSCAD INTELLIFRAMER

© ooelnleleshol

Do

/N

All Drawings by Richard Russ of BenchmarkCAD, Canandaigua NY CALL:(585)396-1548 WwwWW.INTELLIFRAMER.com

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.INTELLIFRAMER.com
http://www.pdffactory.com

